Losung (M 6)

Aufgabe
Welche Zahlen fehlen in den weiflen Késten2
a) b) c)
14| . 5| =170 36
2 1 =2 4
= |35
d) e)
2| .| 8| =19 e
2 2| =1 ¢4 7
= | 24

Losung (M 5)
Aufgabe

Welche Zahlen fehlen in den weiflen Késten?

a) b) c)
9 9 | =181 76 = | 64 20 -|¢4|=|680
: :-: :-:-: :-:-:
3 1| =13 4 | - = | & 2 . 1|1 =12
a B Bie B Bls B E
3 9| =127 4| - =| & 0| - | ¢ | =40
d) e) f
6 4| = | 84 2| . = | 48 91 - (12| = |708
:-: :-:-: :-:-:
2 2 | =|4 3 | - =| 6 3 - 6 | = |18
3 B BB B Bls B E
3 7| =121 4| - =| & 3| - |2 =1|6




